
Prüfungsaufgaben Aufgabe 163b 
 

 
 

 
 

Kosinussatz im Dreieck ABC: 
 

AB² = AC² + BC² - 2 * AB * BC * cos α  

 
80² = 60² + 70² - 2 * 60 * 70 * cos α  m² 

 
6 400 = 8 500 - 8 400 * cos α | -8 500 

 
- 2 100 = - 8 400 * cos α | :(-8 400) 

 
            - 2 100   

cos α = --------- = 0,25 --> α = 75,52° 
            - 8 400 



 
ADreieck = 0,5 * AC * BC * sin α 

 
ADreieck = 0,5 * 60 m * 70 m * sin 75,52° = 2 033,29 m² 

 
l = 1,5 * b 

 
ARechteck = 1,5 * b * b = 2 * b² | :1,5 

 
         ARechteck         2 033,29 m²   

b² = ---------- = --------------- = 1 355,53 m² |ⱱ 
            1,5               1,5 

 
b = 36,82 m 

 

l = 1,5 * 36,82 m = 55,23 m 

 


